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QUESTION 1

On an All Flash FAS, where is the root parity information located on a node using Advanced Disk Partitioning? 

A. on a single SSD drive, regardless of RAID type 

B. on a single SSD partition 

C. distributed among SSD partitions 

D. on two SSD drives, regardless of RAID type 

Correct Answer: D 

 

QUESTION 2

You are configuring replication between two NetApp clusters. You want to configure disaster recovery and vaulting on
the same destination volume. 

In this scenario, which SnapMirror relationship type and SnapMirror policy type should be used? 

A. a relationship type XDP and a policy type vault 

B. a relationship type XDP and a policy mirror-vault 

C. a relationship type DP and a policy vault 

D. a relationship type DP and a policy type mirror-vault 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, what is the throughput limit for the shares0 volume? 

A. 250 IOPS 

B. 25 MB/s 

C. 50 MB/s 

D. 1000 IOPS 

Correct Answer: D 

 

QUESTION 4

What are three advantages of configuring network subnets? (Choose three.) 

A. The default gateway is automatically added to the SVM. 

B. The DNS zone is automatically set on the NAS LIF. 

C. The subnet mask is automatically set on the NAS LIF. 

D. The flow control is automatically set on the port. 

E. The IP address is automatically set on the NAS LIF. 
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Correct Answer: ABE 

 

QUESTION 5

You create a quality of service (QoS) policy group called untest_apps with a maximum throughput of 300 MBps. You
add one volume to the policy group, and then you add a second volume to the policy group. 

In this scenario, which statement is true? 

A. The maximum throughput of each volume is 600 MBps. 

B. The combined maximum throughput of both volumes is 600 MBps. 

C. The maximum throughput of each volume is 150 MBps. 

D. The combined maximum throughput of both volumes is 300 MBps. 

Correct Answer: B 
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